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MAULANA ABUL KALAM AZAD UNIVERSITY OF
| TECHNOLOGY, WEST BENGAL
Paper Code : BBA-506 :
TRANSPORT MANAGEMENT
Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own
words as far as practicable.

GROUP - A
- (Multiple Choice Type Questions ).
1. Choose the correct alternatlves for any ten of the
following : v | 10x 1= 10

i)  Which of the following are termed as Ald to

Navigation ?
‘a) Radio Beacons b} Ré.dio transmitter
c) Radio receiver d) V‘TV stations.

ii) Which of the following is the consﬁlting wing of
Indian railwéyv? 3 |
aj FOIS = b) CRIS
¢} RITES ‘ d) IR’I;S.‘v
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ilj Where is the National Inland Navigation Institute.
(NINI)vldcated ? | |
a) Delhi b) Guwahati
¢) Patna d) Kolkata.
i{z) Which of the following is the keyv factor for
accelerated road vdevelopment 1n India ?  | '
a) Low cost capital and Government management
b) Low cost capital and private participatidn
c) OUfsourcing_ ' |
~d) Participation of World Bank in road
vconstructioﬁ. » o
v)  Which of the folloWing is the largest seaport in
Indiaasof 20137
a) Mundra port | b) Kandla pdrt
c) Vishakapatnam port d) Mu’mbai port.
vi) Railway Risk Rate is an |
a) ordinary téﬁff rate for goods
| b) séléry to railway staff ]
"¢} cost of locomotives |
d)" passenger fair.
vii} The Indian Railway netwaking is divided into
a 12 zones o b) 16 zones

¢) 19 zones d) 15 zones.
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viii) A character party s
a) a party who is the sender of goods
b) a merchant who hires the ship for sending
large quantity of goods
c) - amerchant who has a Shlp lending for sending
. goods
| d) none of these.

ix) The act of throwing goods with the object of saving

other cargo is called =
a) Jettison - b) Wharfage
¢)  Demurrage d) None of these.
%) MDR stands for ’

a) Major Development Roads
b) Modern District Roads

~ ¢) Major District Roads

! d) Main District Roads.

xi) The costliest mode of transport is

a) water transport b} air transport
¢) rail transport d) road transport.
GROUP-B

( Short Answer Type Questions )
Answer any three of the following 3 x5=15
What are the basic elements of logistics ?
| Mention different factors determining ocean routes.

What is Bill.of Lading ? What are its function ?

What are the limitations of ra11 transport ?

A T o

erte a short note on multlmodal transport docurnent
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GROUP-C .
( Long Answer Type Questions )
Answer any three of the following. 3 x 15 = 45

7. a) What are the facilities available at airports ?

b) What are commercial aspects of air transport ?

c) Distinguish between schedule and non-schedule
air transport service. 4+7+4

8. Discuss the commercial and econormic sighiﬁcancc of
rail transport. Mention the various types of rail engines

employed by Indian Rallway ? ' 12+ 3

9. What do you mean by 'Multimodal transport operator' ?

What are the functions performed by Port Trust ? Write

a short note on the various forms of multimodal

transport. - | 3+5+7

10. a) Examine the role of transport system in economic
~ development of a country.

b) Discuss the initiatives taken by the government to
encourage private sector . participation in road
transport. - 8+7

11. Write short notes on any three of the following : 3x5

a) Just-in-time (JIT) transport.

b) Freight traffic

c) Express Highvéay

d)  RITES.
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